Differential Forms: A Complement to Vector Calculus
Errata

Page3 kor/
Page 4  Ex. 2 a)3ps — 4ps  b) o3 + ypu

Ex5 a)zys + yya D) 2yt +

Ex. 6 d') Yaps
Page 5 line 12 (2 + 1)e*dz

line-1  d(z* + 3 — 2%)dz
Page 10  line 15 ¢ = 2°y?23
Page 17  line-15 Let ¢ =

line -8 a% (2%y® + 2% + c(y))
Page 18 linel Let ¢ =

line 6  Then 2223 +

line7 = 2223 + 22y +

line -14  22yz3 + 2y + 4oz + 22 + 2y2® — y — 222 + ¢
Page 19 line-12 ¢ =
Page 20 line 15  Let ¢ =
Page 21  line 14  Let p =

line 17 Then ¢ = (229?23 + 223y32z — 2ty2?)dydz
Page 30  line 15

DEFINITION 3.12: (d?1)* = ed?', ¢ = + 1, where (d?1)(ed?!) = dxdydz.

Page 31  line 13  dzq,...,dx,
Page 32 Ex. 4b) f = 2y
Page 33  Ex. 7e)  —dxy’zdzdy

Ex. 10

(d?7)* = ed?' where (d71)(cd?!) = dady.

Page 38 line 3  every
Page 54  line 11  then

Page 57  line -3 of footnote = because that analogy lets us use
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line 12 C(z,y,0)dz.

line 22

= z1220(1,1) + 21920(1,J) + 22v10(,1) + y1y200(,J)

line 24

= 1122(0) + z1y20(1,§) + z2y1(—0(i,j)) + y1y2(0)

line 25
= (z1y2 — z211)(i,])
last line of footnote  in
line -10  point (2,5,-3)
line -2 lemma
line 7 r(0)
line 3  definition 3.3
line9  C(k(t))h'(t)dt.
line 14 w = k.(v) = (kr)(0)
lines 2,3,5,8 w should be v
line -9 c1p1
line 15 ¢'(t)
line-4 = [A(f(t)f (t)dt
lined = fIA(f(t))f’(t)dt
line 13 goI =
line 14 (6t + 2)?

line 18 ¢ =
line-1 ¢ =
line9 ¢ =

line -2 ! =
line-4 onC

lined  (A(r(t)), B(r(t)), C(r(t)))
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lime 6+ C(F(), g(t), h(e)))dt

line-4 [ o1 = 16/15 [ ¢o = 14/15
Cg C13

line 10  16/15 + 14/15

line-6 90C = {q} U —{p}

line-10 (1-1—-0-0)

line -5

i —duvdu + 2(—v? + u? + 1)dv
y =

(u? 4+ v2 4+ 1)2



Page 169: Replace lines -16 through -11 by:
Since ke = kyol, k3(¢) = (*(ki(p)) by proposition II1.3.61.
For simplicity we complete the proof when n = 2. As kj(y) is a 2-form on a

region in IR%, we may write ki (¢) = f(x,y)dzdy for some function f(z,y). Then
C(ki(p)) = C(f(z,y)dzdy) = f(l(u,v))](£)(u,v)dudv (5.17)

by proposition 3.34.

Then the conclusion of the theorem becomes, by definition 3.2,
+ / Flay)dAn, = + / F((, )T () (1, ) d Aws. (5.18)

We are assuming the orientations are all compatible. This implies that either T} and
T, both have the same orientation as surfaces in IR?, so both sides of (5.18) get the same
sign, and that J(¢)(u,v) is always positive, or else T} and T have opposite orientations
as surfaces in IR?, so the two sides of (5.18) have opposite signs, and that J(¢)(u,v)
is always negative. In either case, then, (5.18) is just the standard change-of-variable
formula for double integrals.

The case of general n is similar. (For n = 3, use 4.8 and 4.2 instead of 3.34 and

3.2.) 0



Page 190  Ex. 13 should be flush with left margin
Page 194  footnote line 1 invertible
Page 197  line 18

az < w2 < bo, ..., ap < o < by

Page 216  line -3  involve dz,,.
Page 245  line-5  Jq should be Jg
Page 247 1.1  1la) (42? — x)dr + 3zdy
b) 3z%dr + (—2® + 2zy + = + y)dy
L1 2a) (328 — 4y?2)dr + (3yz + 4wz)dy
—(32% + 3y* + 322 + 8z + 4)dz
b) (z* + y32)dx + (=2 — xy® — z2° + 22y + y)dz
Page 248 1.2 2d) zdydz + (y* — 2)dzdx + (—2 — 2yz)dzdy
Page 249 1.3 2d) =i + (v — 2)j + (-2 — 2y2)k
Page 251 IIL1  2e) 34 2f) —17
M2  2d) 27
3a) 85
Page 252 IV.2  7a) 2 — 2xy + 2y
Page 253 V.4 2) 1/15
Page 254 V.3 13) —79/5
V4 2) 1/15



